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What's in Marty's Way 

The range of the IR Obstacle Sensor 

 
The IR sensor’s range is very small – Marty will need to be very close to an object in order to ‘see’ it. A good 
preparation for determining the appropriate distance for returning true would be to physically move Marty closer 
to and farther from an obstacle with the ‘foot obstacle sensed’ block ticked to get live feedback on the sensor. 
The only results will be true or false. If it happens that only false is returned, it would be best to refer to the 
support page for the IR sensor, found here. 

  

BOOLEAN reminder 

 
BOOLEAN values are very straightforward – they can be one of two possible answers. In the case of the obstacle 
sensor, the options are true or false. If something is true it cannot be false and vice versa. The code for the obstacle 
sensor relies on the correct value being returned in order to command Marty to act. 
 
There is no need to delve deeper into what the values mean for this lesson. There will be future opportunities to 
extend BOOLEAN values by using logic blocks. 
  

 

The basic code for the obstacle detection 
 

 

 

The code here is built with two 
separate conditional statements. 
The two statements are identical 
and only occur twice because 
Marty is about two steps from the 
obstacle (before the video, Marty 
was set to stand directly in front of 
the obstacle and the walk 
backward command was tapped).  
The first and second conditional 
statement command Marty to walk 
to steps if there is not obstacle and 
to play a sound if there is an  
obstacle. 

https://userguides.robotical.io/martyv2/userguides/sensorsandaddons/obstaclesensing
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The code for the complex reactions 

 
• The whole code is contained in a forever repeat block.  
• The first conditional statement is very similar to the code block shared in the lesson plan but the steps are 

smaller, which allows for a more accurate response. 
• The else part of the first conditional statement gives Marty more movement rather than just playing a 

sound. It will cause Marty to turn 90 degrees, which took a bit of trial and error due to how Marty reacts 
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with the real world. 
• There is a second repeat block that repeats 6 times. This is in case Marty detects a second obstacle 

perpendicular to the first. 
• If a second obstacle is not detected within 6 steps, Marty will continue in this direction until an obstacle is 

detected; if Marty does detect a second obstacle, they will turn again but this time it will be a 180 degree 
turn. 

 
 

Ideas for the workbook 

 
The responses for why sensors are sometimes needed should feature that machines don’t have working eyes, like 
many people; some people have visual impairments and the sensor (cane or guide guide) for a user information about 
their surroundings. 
 
Learners should note that Marty responded differently depending on whether there was an obstacle: no obstacle 
meant continuing forward. 
 
True means that there is an obstacle there. 
 
Checking repeatedly calls for a repeat block. 
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